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QUESTION 1

Which of the following statements about a screened host is true? 

A. It facilitates a more efficient use of the Internet connection bandwidth and hides the real IP addresses of computers
located behind the proxy. 

B. It is a small network that lies in between the Internet and a private network. 

C. It provides added security by using Internet access to deny or permit certain traffic from the Bastion Host. 

D. It provides a physical connection between computers within a network. 

Correct Answer: C 

A screened host provides added security by using Internet access to deny or permit certain traffic from the Bastion
Host. 

Answer: D is incorrect. A network interface card provides a physical connection between computers within a network. 

Answer: B is incorrect. Demilitarized zone (DMZ) or perimeter network is a small network that lies in between the
Internet and a private network. It is the boundary between the Internet and an internal network, usually a combination of 

firewalls and bastion hosts that are gateways between inside networks and outside networks. DMZ provides a large
enterprise network or corporate network the ability to use the Internet while still maintaining its security. 

Answer: A is incorrect. A proxy server facilitates a more efficient use of the Internet connection bandwidth and hides the
real IP addresses of computers located behind the proxy. 

 

QUESTION 2

What does CSS stand for? 

A. Cascading Style Sheet 

B. Coded System Sheet 

C. Cyclic Style Sheet 

D. Cascading Style System 

Correct Answer: A 

A Cascading Style Sheet (CSS) is a separate text file that keeps track of design and formatting information, such as
colors, fonts, font sizes, and margins, used in Web pages. CSS is used to provide Web site authors greater control on
the 

appearance and presentation of their Web pages. It has codes that are interpreted and applied by the browser on to the
Web pages and their elements. CSS files have .css extension. 

There are three types of Cascading Style Sheets: 

1.
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 External Style Sheet 

2.

 Embedded Style Sheet 

3.

 Inline Style Sheet 

 

QUESTION 3

DRAG DROP 

In Unix, there are different commands used for editing and viewing files. Drag and drop the appropriate commands
(available in Unix) in front of their respective functions that they perform. 

Select and Place: 

Correct Answer: 
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Following are the basic file editing and viewing commands in Unix: 

 

QUESTION 4

You work as a Software Developer for Cinera Softwares Inc. You create a DHTML page that contains ten TextBox
controls to get information from the users who use your application. You want all the components placed on the DHTML
page to be repositioned dynamically, when a user resizes the browser window. 

Which of the following will you use for this? 

A. Use the position attribute of the Cascading Style Sheet. 

B. Use the OnResize event for the DHTML page object. 
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C. Use the Resize event of the Document object. 

D. Use the OnResize event of the Cascading Style Sheet. 

Correct Answer: A 

position attribute of the Cascading Style Sheet. The DHTML page object modal gives access to styles and style sheets.
Therefore, you can easily set and change the position of an element. Reference: MSDN, Index "Dynamic
HTML(DHTML), in DHTML Applications", "Elements Positioning in DHTML Application", Search "Positioning", "Dynamic
HTML" 

 

QUESTION 5

DRAG DROP 

Your company has been hired to provide consultancy, development, and integration services for a company named
Soul International. You have prepared a case study to plan the upgrade for the company. 

You are designing policy settings for the Web servers at the headquarters. 

Place Allow or Deny in front of the type of traffic received by or sent to the Web servers from the internal clients and the
Internet. 

(Click the Exhibit button on the toolbar to see the case study.) 

Select and Place: 

Correct Answer: 
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HTTP/HTTPS is used for transferring HTML pages over the network. Hence, you should allow it for both the Internet
and internal clients traffic. 

The Remote Desktop Protocol (RDP) is used to connect to servers remotely. Allowing it for the Internet traffic is
definitely a security threat. Hence, you should deny this for the Internet traffic. According to the case study, the
administrators 

must use RDP to connect to the servers in the perimeter network. Hence, you will have to allow it for the internal clients
traffic. 
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